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EXTHES
(B) FEr28F4H1H () FERk29F3H31H
(B47: [)
BENE UEERE(A) B RE(B) =m(A)-(B)
SBIN 1,061, 600 1,085, 200 ~23, 600
ST EIE 1,047, 800 792, 500 255, 300
RTINS 15,070, 936 17,531, 093 -2, 460, 157
ZERIN 299, 340 312, 990 -13, 650
AR E =SInE= 81, 800 98, 800 -17, 000
| | #|eEaiunzs 0 0
B |NERmERRG 14,540, 077 15, 552, 730 -1,012, 653
2| |EEEuy-r2EELIRG 7,197, 930 2,518,970 4, 678, 960
| |zothouss 3,311, 830 4,000 3, 307, 830
gy [P —EAEBIREET (1) 42,611,313 37, 896, 283 4,715,030
| | 29,010, 726 31,501, 003 —2,490, 277
SE=S: 2,849,518 2,962, 338 -112, 820
W |Ee 4,979, 202 3,893, 268 1,085, 934
O| B|HEEaRSSBEE 103, 931 54, 440 49, 491
8| P | IR AR 695, 500 727, 300 -31, 800
ottt 364, 831 364, 831 0
EE A S SIS S A -250, 000 -250, 000 0
H-CEBEM (2) 37,753, 708 39, 253, 180 1,499, 472
H-CPXEBEREE (3) = (1) - (2) 4, 857, 605 1, 356, 897 6, 214, 502
R T e e 16,114 25, 396 -9, 282
| 25— EBIMNREEET (4) 16,114 25, 396 -9, 282
& E|y-cEBSERET (5) 0 0 0
s+ A
Ls[U-EXEIHER=R (6) = (4) — (5) 16,114 25, 396 -9, 282
BEEREE (7) = (3) + (6) 4,873,719 -1, 331, 501 6, 205, 220
MECEEESRED 0 0 0
sl &
" i%ﬂﬂﬁﬁﬁ%’r (9) 0 0 0
DlsiEmemm (10) = (8) — (9) 0 0 0
UHEEIERESE (11) = (7) + (10) 4,873,719 -1, 331, 501 6, 205, 220
HET o R WY 2,563,913 3,896,877 1,332, 964
= [EAKISHEEMEREE (13) = (11) + (12) 7,437, 632 2,565, 376 4,872, 256
 [EASEVREE (14) 0 0
w |EEUEREA (15) 0 0
* [ZOMORTSEEHE (16) 0 0
o |zofthoiEr SHEER (17) 138 1,463 1,325
o REBISMSEENSRESE (18) = (13) + (14) + (15) + (16) | 7,437, 494 2,563,913 4,873, 581




